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3 (2016 ) (
884)

Cy,H,,,0,(s) +800,(g)—
57C0,(g) +52H,0(1)
3.8 x
AH ( ).
B. -3.8 x 10" kJ/mol
D. -3.4 x10* kJ/mol

1 kg
10* kJ.
A.3.8 x 10" kJ/mol
C.3.4 x10* kJ/mol

1 mol
o 1 kg
3.8 x10"kJ 1 mol
( 884 ¢) (884 ¢ +
1000 g) x3.8 x 10" k] =3.4 x 10" kJ
AH = -3.4 % 10" kJ/mol. :D
1 mol (1 mol
884 ¢) o
4 (2015 )
AH = -2215 kJ/mol
1.8 ¢ ( D)o
A.55k] B.220kJ] C.550 kJ  D.1108 kJ
Qo

CiHy(2) +50,(9)==3C0,(g) +4H,0(1)

2016 10

AH = -2215 kJ/mol
4 mol H,0(1)
2215 kJ; 1.8 ¢g 1.8 g+ 18 g/mol
=0.1 mol 4 mol: 2215 kJ =0.1 mol: @
Q =55.375 kJ=55 kJ. tA

~

5 (2016 ) 1
1
Y
X A
X 7
1 mol X
687 kJ N -69°C
58°C s
X Y. Z
X SiYy 0;Z Cl. X Z
1 mol SiCl, 687 kJ
Si.Cl,  SiCl, N

Si(s) +2CL (g)=—=SiCl, (1)
AH = -687 kJ /mol

=Si(s) +2CL (g)—=SsiCl, (1)
AH = —687 kJ /mol
. AH
AH
6 (2016 )
H,. ( ).

) :
2H,0()==2H,(g) +0,(g)
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AH, =571.6 kJ/mol
@ :
C(s) +H,0(g)=——=CO(g) +H,(g)
AH, =131.3 kJ/mol

) :

CH,(g) +H,0(g)=—=CO0(g) +3H,(g)
AH, =206.1 kJ /mol

A. )
B. ©)
C. @ AH,
D. CH,(g)=—=C(s) +2H,(g) AH-=
74.8 kJ/mol
@ A
; @ AH, =131.3 kJ/mol @
B ;
C ;
® -0
CH, (g)==C(s) +2H,(g)
AH =206.1 kJ/mol —131. 3 kJ/mol
=74.8 kJ/mol D o
:D
@ ; @ AH,
; AH
; AH.
1 AH
7 (2015 I )

2HI(g)==H, (&) +1,(g)
AH = +11 kJ/mol 1 mol H,(g) 1 mol 1,(g)
436 kJ.151 kJ

1 mol HI(g)
__kJ.
1 mol HI(g)
x kJo
H-1 H-H I -1
x kJ/mol 436 kJ/mol 151 kJ/mol “AH
= - 7 AH =

2x kJ/mol — (436 kJ/mol + 151 kJ/mol) = +11 kJ/

« 49 .

mol x =299, 1299
8 (2015 )F,
CIF,
BrF,
ClL,(g) +3F,(g)==2CIF,(g)
AH = =313 kJ/mol
F-F 159 kJ/mol Cl -Cl
242 kJ/mol ClF, Cl-F
~ kJ/mol.
CIF, Cl -F
“AH = -
” AH = (242 kJ/mol + 3 x
159 kJ/mol) -2 x3 x E(Cl = F) = -313 kJ/mol
E(Cl-F) =172 kJ/mol.  :172
2. AH
9 (2015 )

@—CHZCH3(-g) —
<6>—CH=CH2(g) + H,(g)

E(Cl-F).

2.
2
C-H C-C C=C H-H
/kJ /mol 412 348 612 436
AH=___ kJ/mol,
2 mol C - H
1 mol C - C 1 mol C =C 1 mol
H-H; “AH = _
T(

Y AH = (2 x 412 kJ/mol +
348 kJ/mol) - (612 kJ/mol + 436 kJ/mol) =
124 kJ/mol.
1124
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